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Quiz



DP TASK
Given a list of n distinct positive integers, return the size of the largest subset such that 
for every pair of elements a and b in the subset, either a % b == 0 or b % a == 0.

Required Time Complexity: O(n^2)

Example: [4, 7, 8, 16, 28]

Answer: 3



dp[i]: size of the maximum subset that ends with i-th number.





What if we wanna return the Elements?



All Pairs Shortest Path Problem
● Johnson's Algorithm
● Floyd-Warshall



Johnson’s Algorithm



Floyd-Warshall Algorithm



Peer Grading

Exercise 11.1


